B ERICETSHIERE (ERALE) 2 &ERR

TR25F 108 XKB &

B A Z 8B &
Tk I 8 % VorXY | BEEE |#—r1E| BEEE | #HHhol | Erhow | ABiREGH#| & &
FEXR gl
FER25F 57 11 8 0 0 2 2 g 9 2 0
BREE TRR245F 62 8 6 0 1 5 4 11 12 3 0
FR254 27 3 2 0 0 2 5 4 1 1 0
ERNFE K24 4F 45 7 5 0 1 3 3 3 4 7 0
FER25%F 63 9 5 1 0 2 1 4 12 2 0
il ERE245F 78 9 6 1 1 2 11 6 10 8 0
ERE255 30 6 6 0 2 1 1 1 4 1 0
RAFRE ER24%F 26 7 5 0 0 1 0 2 2 1 0
: ER25% 131 18 12 0 4 4 14 11 21 2 0
SRR Ert24%5 129 8 2 0 5 3 21 8 16 11 0
5 308 47 33 1 6 11 23 22 47 8 0
?f’a gf-f‘ ] 3473 543 381 16 78 59 538 186 368 64 3
tt!;g (%) 8.9% 8.7% 8.7% 6.3% 7.7% 18.6% 4.3% 11.8% 12.8% 12.5% 0.0%
TR 244 E X 340 39 24 1 8 14 39 30 44 30 0
1~10H z 4,067 462 299 23 94 98 743 382 444 218 13
EE3E (%) 8.4% 8.4% 8.0% 4.3% 8.5% 14.3% 5.2% 7.9% 9.9% 13.8% 0.0%
X FRL25E1AALE RMIEA HE RILIEIC TOET,
Bl ERICEITSXEE NG EHRRE KRR
TH25FE 108 KR &
3 = B 5 [ %
# % (KEFH)| A % (KFEH) | # % (MFE) | A % (MFEHR) | # %  (FEH) | A #  (KEEH)
EEEENE 0 (+0) 0 (+0) 0 (—1) 0 (=1 35 (+8) 38 (+3)
W O R P X 0 (£0) 0 (+0) 0 (£0) 0 (£0) 15 (+2) 16 (+1)
E S 0 (+0) 0 (+0) 2 (—1) 2 (—1) 42 (+8) 58 (+20)
R FER 1 (%0) 1 (+0) 0 (—1) 0 (—1) 42 (+6) 52 (+6)
2 F X 0 (£0 0 (£0) 3 (+2) 3 (+2) 95 (+2) 124 &%)
E‘ X 1 (%0) 1 (£0) 5 (—1) 5 (—1) 229 (+26) 288 (+37)
= 9 (+3) 9 (+3) 42 (—=3) 42 (—3) 2,192 (+112) 2,784 (4209)
ERENRELBNEGEBS X7 (BMRA)
K25 10 A KR
T = ¥ R —
1 g E 4,064 ! ' ’ '
2 o 3,650 E &
3 F B H 3,488
4 — ] 3473
5 2 & 3,405




